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iron nail

insulated wire

i

\

battery

The figure shows an iron nail with an insulated wire coiled around it.
The wire is connected to a battery.

What will happen to the nail when current flows through the wire?

(&) The nail will melt.

Electric current will flow through the nail.
(© The nail will become a magnet.

(o) Nothing will happen to the nail.
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The color of an object such as an apple is the same as the color of the Jile[ Waves

(&) that travel through the object
ij that are absorbed by the Lﬂ“ﬁjt’ui

that are reflected by the ohject

Fan S —~ W
= 0

that travel arcund the object
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When sound waves with large amplitude are compared to sound waves with
small amplitude, which of the following is true?

(#) Sound waves with large amplitudes have less energy and sound quieter.
(B} Sound waves with large amplitudes have more energy and sound louder.
© Sound waves with large amplitudes have the same energy and sound

quieter,

©)

Sound waves with large amplitudes have the same energy and sound louder.
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tem 1D [Py | subject [l crade JEN Block R

Peter and Joan are learning about the Great Pyramid of Cheops (Khufu) that is
found in Egvpt.

They wondered how the ancient Egyptians managed to lift the stone blocks
to build the pyramid. They did some research on the Internet and found the
diagram shown below.

stone block

woatclen pole

b

tree trunk

Peter was not sure he understood the diagram so Jean drew a diagram to help
him understand how the stone was lifted. Her diagram is shown below.

lavararm

lever arm

lead
fulerum

A. Match the parts of the Egyptian levers to the diagram of the lever Joan drew.
One has been done for you.

Joan's Diagram Egyptian Levers
Effort Downward pull of the worker

Load

Fulcrum

Lever arm
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item 1D ORI | Subject ﬂ Grade n Blockm Block Seq n

Code | Response | Ttem: S042244A
Correct Response
10 | Matches three parts of the lever correctly as shown below.

Joan’s Diagram Egyptian Levers
Lffort Downward pull of worker
Load stone block (stone)
Tulcrum tree trunk (tree)
Lever arm wooden pole (wood)

| Incorrect Response
70 | Matches two parts of the lever correctly.

71 | Matches one part of the lever correctly.

79 | Other incorrect (including crossed out, erased, stray marks, illegible, or off task)

| Nonresponse
99 | Blank
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B. Peter and Joan read that six men could together lift a stone weighing
30,000 Newtons. Each man would then need to be able to lift one

xth of this weight (5,000 Newtons). They decided to work out how much

effort each man had to exert on his wooden pole.

Peter added the length of each lever arm to Joan’s diagram as shown below.

load
00 Newtons)

fulcrum

He looked up the following formula in a textbook:

force exerted by load length between effort and fulcrum

force exerted by effort length between load and fulcrum

How much force does each man have to exert to lift the block?

Newtons
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Item: S02052
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10 ‘ 1,000 Newtons.
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Some students used an ammeter (A} to measure the current in a circuit for
different voltages.

:-J'O|I%3J-2:I -/-.a-\:\‘ Amrmster

M " {ourrent)

The table shows some of the results, Complete the table.

Voltage (Volis) Current (milliamperes)
2 15
4 S0
[s1,

i) :\43\.3)45 Q)S\J Léﬁ szh_)@ﬁj\ JL;A\ u.u\:\ﬂ (A) ‘)-\;\AY\ _‘éjb.)éj\ Jl,)ﬂ\ u.uhSA &_IM\ JAT d.qa.\u! .12
(SE\Jala ) L Ble gam (38 Hhas

Resistor

e a—

Power —
Supply »

N Ammeter
(voltage) 7\ @ (current)
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Code ‘ Response Item: $022022

‘ Correct Response ‘
10 (8

‘ Incorrect Response ‘
70 |6
79 | Other incorrect (including crossed out/erased, stray marks, illegible, or off task)

‘ Nonresponse ‘
99 | Blank

306



Item: S02052 by

:daaall dlaiu)

dasaal) e clilay)

(6)

Lelalad oSy Ll casihy ¥ dama 52 s (4

Ayl Alay)

1A
daadle claldy) -7
o o leS 5303 (A (il o gl G o Al Sy pgngall 3 =
DL O A8 agls ¢ AloyeSI LAl adig cLagin 4l esl) liadl) (342
bl iyl (g agall (5585 A8l Bl jualic (re juaie 8 JleS)
t ) Bl o )ha) agl
sy sl
LSS las uatlsd ¢ i ¢5) axe iy
AL Y agale 55 Cilegens ) dullall ad -
Byl o ael liany 38 068 o aag AileSl 3500 Juagi agal) lla) -
(8 5aals Al s llys Jiadilpally yise¥) (e JS 3618 Jindi pel) llal =
Oty A8lz) aay Al 1S5 1Y)y iailsdl) 36 Jimadt o (AY) A glaall
Ny EE
PYS s (A gl it pgl) el —

307



sl (Jsanl) e B 3 ganll o day %w fasliall Gl peall alla) —
il 53 Joa skaadly 13k agllls cagd Lebie s dail) 028 e

Sl P e 4B e pellals 2gally Ll G Ao an) agal) illa) -
(ks Ll (pslaadln) Lo ohan

J8 13y elgmna Apnaillyg (SN 23 Js¥) a5 13) s pdall Conliil) ageia pel ams =
s pnally 5B 8 Y

Ll Ly 1315 s Ll Fanl) Jualss ol syl ol Al b il ol o =
Laginne Uad il (8

(o) Lasliall any ol aag e = T

(omel) DL sy o(Qlsd) el 58 ix Cus p = & asl sl s 1aag
o) sl i il Asula el ) sand Al A e el -
Oy syl il o sgia e s alull ALY e LY Al K -

casl
&8

Al yeSl) Aaglaall ¢ AloeSH agall ¢ JliyeSll 5Ll sA8Y) amlaally k)l S5 -
(oeecps) sl cAdapall 3800l

Adapad) 00l Unladt Loy 2l e ans)) =
U el Caall syl GUSH (paa syl Alaial) dgw Adlall Y (il -
b b DA e ma g Allg (sl Y)

308



(J@Aj\ GZ\A}M\ c‘;ﬂ.})@ﬁ\ J\:\.\S\) :\_13\_3)65}\ 'é)j\ﬂ\ (.}@AA

gl (985 Ll G AL

(S ey Ayylars Taslies final (g5t 5000 Unlads Ly 25l e )
aa] Cinall Bls Ciyatl aginy Jsaty codybar DS Jlsadl Ja pged) 1l
Agtiadlaal

Esasal 1a o )l QU 5l Ay Al Ja

LllaY) Baaly cleda g callaly caallall e dgaliiall ALY 8l

309



